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The Computation Diagram for plauning the Transmitter Closed Circuits

Sunao HoOOK ABE

When we plan and adjust a transmitter, it is the mos: important that we make the
vacuum tubes operate in the best condition. Above all, it is one of the most important
factors to adjust the out-put load circuit.

The author thought that, on planning a transmitter, it is very convenient for us to get
its component values with the computation diagram withont computation and adjust the
transmitter easily to the expected condition.

Therefore the author compased the computation diagram, I will be very glad to give

something useful to you from my diagram.
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